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Example

1. Find the solutions set of the equations : 

(i) , where x is a negative

integer. 

12x + 6x > 0

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_xBVNapn8C6W1


Exercise 15 A

(ii) 30-4(2x-1) , where x is a positive

integer.

Watch Video Solution

< 30

2. Graph the solution set on a number line if

 where x is a real number.

Watch Video Solution

−2x + 14 < 6

https://dl.doubtnut.com/l/_xBVNapn8C6W1
https://dl.doubtnut.com/l/_LH7tJZH87lCs


1. If the replacement set is the set of natural

numbers, solve : 

(i)  (ii)  


(iii)  (iv) 

Watch Video Solution

x − 5 < 0 x + 1 ≤ 7

3x − 4 > 6 4x + 1 ≥ 17

2. If the replacement set s={-6,-3,0,3,6,9}, find

the truth set of the following : 

(i)  (ii) 

Watch Video Solution

2x − 1 > 9 3x + 7 ≤ 1

https://dl.doubtnut.com/l/_GgjKD9fc0ctY
https://dl.doubtnut.com/l/_CJP4DRu7bRl2


3. Solve : 

Watch Video Solution

7 > 3x − 8, x ∈ N

4. Solve : 

Watch Video Solution

17 < 9y − 8ly ∈ Z

5. Solve .

Watch Video Solution

9x − 7 ≤ 28 + 4x, x ∈ W

https://dl.doubtnut.com/l/_CJP4DRu7bRl2
https://dl.doubtnut.com/l/_yOGmAyapKOb0
https://dl.doubtnut.com/l/_lRMPAYPp9Wxl
https://dl.doubtnut.com/l/_8UbPLdTrNttN


6. Solve .

Watch Video Solution

x + 8 < 12, x ∈ W
2

3

7. Solve 

Watch Video Solution

−5(x + 4) > 30, x ∈ Z

8. Solve the inequation

.8 − 2x ≥ x − 5, x ∈ N

https://dl.doubtnut.com/l/_8UbPLdTrNttN
https://dl.doubtnut.com/l/_MWLjnqVKTcsq
https://dl.doubtnut.com/l/_Ga2JvsEhEi0M
https://dl.doubtnut.com/l/_INrJEHTiigoR


Watch Video Solution

9. Solve the inequality

.

Watch Video Solution

18 − 3(2x − 5) > 12, x ∈ W

10. Solve .

Watch Video Solution

+ 15 ≤ 17, x ∈ W
2x + 1

3

https://dl.doubtnut.com/l/_INrJEHTiigoR
https://dl.doubtnut.com/l/_ZknbizbrTYfR
https://dl.doubtnut.com/l/_ldl0pbNuTtyM


11. Solve .

Watch Video Solution

−3 + x < 2, x ∈ N

12. Solve

Watch Video Solution

, 4x − 5 > 10 − x, x ∈ {0, 1, 2, 3, 4, 5, 6, 7}

13. Solve 

Watch Video Solution

15 − 2(2x − 1) < 15, x ∈ Z

https://dl.doubtnut.com/l/_bTeC7LCO7F6W
https://dl.doubtnut.com/l/_YXAEiGgSZJ1Z
https://dl.doubtnut.com/l/_IVB61qCfU1rq


Exercise 15 B

14. Solve 

Watch Video Solution

> , x ∈ W
2x + 3

5

4x − 1

2

1. Solve and graph the solution set on a

number line : 

Watch Video Solution

x − 5 < − 2, x ∈ N

https://dl.doubtnut.com/l/_IVB61qCfU1rq
https://dl.doubtnut.com/l/_mLgSeDAwC3tO
https://dl.doubtnut.com/l/_Lf8XuH7SZknB


2. Solve and graph the solution set on a

number line : 

Watch Video Solution

3x − 1 > 5, x ∈ W

3. Solve and graph the solution set on a

number line : 

Watch Video Solution

−3x + 12 < − 15, x ∈ R

https://dl.doubtnut.com/l/_Lf8XuH7SZknB
https://dl.doubtnut.com/l/_zUkCN6qqNEML
https://dl.doubtnut.com/l/_tB2QLyUhHD7w


4. Solve and graph the solution set on a

number line : 

Watch Video Solution

7 ≥ 3x − 8, x ∈ W

5. Solve and graph the solution set on a

number line : 

Watch Video Solution

8x − 8 ≤ − 24, x ∈ Z

https://dl.doubtnut.com/l/_yF1dB0kUbS4T
https://dl.doubtnut.com/l/_xSt9d8rbAidL
https://dl.doubtnut.com/l/_dj4wLHDlzHJD


6. Solve and graph the solution set on a

number line : 

Watch Video Solution

8x − 9 ≥ 35 − 3x, x ∈ N

7. Solve and graph the solution set on a

number line : 

Watch Video Solution

5x + 4 > 8x − 11, x ∈

https://dl.doubtnut.com/l/_dj4wLHDlzHJD
https://dl.doubtnut.com/l/_50wxfScNjLMT
https://dl.doubtnut.com/l/_1ukYikWHNt6G


8. Solve and graph the solution set on a

number line : 

Watch Video Solution

+ 1 < − 3, x ∈ R
2x

5

9. Solve and graph the solution set on a

number line : 

Watch Video Solution

> − 1 + , x ∈ N
x

2

3x

4

https://dl.doubtnut.com/l/_1ukYikWHNt6G
https://dl.doubtnut.com/l/_S39VrYubI7mV


10. Solve and graph the solution set on a

number line : 

Watch Video Solution

x + 5 ≤ x + 6, x ∈ W
2

3

1

2

11. Solve the inequation

 and represent its

solution on a number line. Given the

replacement set is {-4,-3,-2,-1,0,1,2,3,4}.

Watch Video Solution

5(x − 2) > 4(x + 3) − 24

https://dl.doubtnut.com/l/_5Nk6fkLEZWux
https://dl.doubtnut.com/l/_NtwQZ2aghoof


12. Solve  and represent

line solution on a number line. Given

replacement set is {-8,-6,-4,3,6,8,12}

Watch Video Solution

(x − 1) + 4 < 10
2

3

13. For each inequation , given below,

represent the solution on a number line: 

Watch Video Solution

− 2x ≥ , x ∈ W
5

2

1

2

https://dl.doubtnut.com/l/_NtwQZ2aghoof
https://dl.doubtnut.com/l/_8daJvx5sz6ZC
https://dl.doubtnut.com/l/_BgxXWHxJAwhw


14. For each inequation , given below,

represent the solution on a number line: 

Watch Video Solution

3(2x − 1) ≥ 2(2x + 3), x ∈ Z

15. For each inequation , given below,

represent the solution on a number line: 

Watch Video Solution

2(4 − 3x) ≤ 4(x − 5)x ∈ W

https://dl.doubtnut.com/l/_qwZiBA8WTzQc
https://dl.doubtnut.com/l/_NRGv5azBXSMl
https://dl.doubtnut.com/l/_lF1RI0j2WFaS


16. For each inequation , given below,

represent the solution on a number line: 

, x is a negative

integer

Watch Video Solution

4(3x + 1) > 2(4x − 1)

17. For each inequation , given below,

represent the solution on a number line: 

Watch Video Solution

< 3, x ∈ R
4 − x

2

https://dl.doubtnut.com/l/_lF1RI0j2WFaS
https://dl.doubtnut.com/l/_snIWcdAzS8WA


18. For each inequation , given below,

represent the solution on a number line: 

Watch Video Solution

−2(x + 8) ≤ 8, x ∈ R

https://dl.doubtnut.com/l/_335c2aWrYKog

